X-X

Al A5 Aa7:
(Bx+ 5)(x* — 5x— 6) — (2x + 1)(4x — 3) (5x+2)( +x— 6)— (x + DBx— 1)
6x — (6 + 6x)(4x — 3)(4x — 4) x— (3= 2x)(4x+ 3)(2x + 4)
(x> = 3)(Bx— 1)+ 2% — 5x — 4 (3x + 3)(2x — 3)(4x — 4)
Gx+ 5)2x—2)(5x + 4) (4x + 1)(3x — 6)(6x — 4)
(2x — 2)(5¢° —x+ 2) — (2x + 1)(6x — 6) (o —3)(2x— 6) —4¢ —2x +3
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(3x+ 5)(% — 5x— 6) — (2x + 1)(4x — 3)
3 — 18x% — 41x— 27

6x — (6+ 6x)(4x — 3)(4x — 4)
—96x> + 72x + 102x — 72

(3x® = 3)(3x— 1)+ 2% — 5x — 4
Ox’ —x* — 14x— 1

Bx+5)(2x—2)(5x+ 4)
30x° + 44x” — 34x — 40

(2x— 2)(5x> —x+2)— (2x + 1)(6x — 6)
10x3 — 24x% + 12x+ 2

HIZh: A7

(5x+2)02 +x—6)— (x + DBx— 1)
57 + 4x? - 30x— 11

x— (3—2x)(4x+ 3)(2x + 4)
16x° + 20x% — 41x— 36

(3x + 3)(2x — 3)(4x — 4)
24x> — 36x% — 24x + 36

(4x+ 1)(Bx—6)(6x— 4)
72x° — 174x% + 48x + 24

(= 3)(2x—6) — 4% —2x +3
2 — 10x* — 8x + 21
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